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1. John likes food
likes(john , food).

2.Fido is a dog
dog(fido).

3. All dogs are animals.
VX(dog(X) - animal(X)).

4. Some animals will fly.
AY(animal(Y) - fly(Y)).

5. Prove that ,Fido will die
— die (fido).

6. Anyone passing the history exam and winning the lottery is happy.
VP (pass(P, history_exam) * win (P, lottery) — happy(P)).

7. Anyone who studies or is lucky can pass all the exam
vXq(study(Xq) v lucky(Xq) — pass(Xq, exam)).

8.John did not study but he is lucky
— study(john) * lucky(john).

9. Anyone is lucky wins the lottery
VZ(lucky(Z) — win(Z,lottery)).

10.Some people that are not poor and smart are not happy.
AYx( = poor(Yx) A smart(Yx) — = happy(Yx)).

11.Some people have exciting lives.
JW(person (W) — exciting (W)).

12.Prove that John is not happy.
happy(john).




